



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

305 E 66th 2ND AVE
APT. 2-6

Date DECEMBER 26, 2015

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
3	BATH TOWEL	\$ 3.00	\$ 9.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
3	HAND TOWEL	\$ 2.00	\$ 6.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 74.00
		Tax	
		Total	\$ 74.00



ADL CLEANING SERVICES LLC
206 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 66 ST 2ND AVE
APT. 8-A
SONAM DEVA

Date DECEMBER 22, 2016

Receipt No.

Served by

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
2	PILLOW CASE	\$ 2.00	\$ 4.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00

OK

MERWIN DELA CRUZ
9 EAST 71ST STREET
NEW YORK, NY 10021

Subtotal \$ 65.00

Tax

Total \$ 65.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66TH ST 2ND AVE
APT. 10-B

Date DECEMBER 17, 2018

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
4	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
1	HAND TOWEL	\$ 2.00	\$ 2.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 67.00
		Tax	
		Total	\$ 67.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 7-J

Date DECEMBER 16, 2016

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
3	BATH TOWEL	\$ 3.00	\$ 9.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
3	HAND TOWEL	\$ 2.00	\$ 6.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUISE 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 74.00
		Tax	
		Total	\$ 74.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 11-5

Date DECEMBER 17, 2016

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 69.00
		Tax	
		Total	\$ 69.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66TH 2ND AVE
APT. 2-6

Date DECEMBER 17, 2016

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
1	HAND TOWEL	\$ 2.00	\$ 2.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ E EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 67.00
		Tax	
		Total	\$ 67.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 7-J

Date DECEMBER 12, 2016

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
3	BATH TOWEL	\$ 3.00	\$ 9.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 72.00
		Tax	
		Total	\$ 72.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66TH 2ND AVE
APT. 10-B

Date DECEMBER 12, 2015

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
3	BATH TOWEL	\$ 3.00	\$ 9.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 5 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 72.00
		Tax	
		Total	\$ 72.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 11-P

Date DECEMBER 10, 2016

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
3	HAND TOWEL	\$ 2.00	\$ 6.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 71.00
		Tax	
		Total	\$ 71.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 11-J

Date DECEMBER 10, 2018

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 69.00
		Tax	
		Total	\$ 69.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66ST 2ND AVE
APT. 11-J

Date DECEMBER 7, 2015

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 69.00
		Tax	
		Total	\$ 69.00



ADL CLEANING SERVICES LLC
 208 E BEVERLY PKWY
 VALLEY STREAM NY 11580

Client:

301 E 66 ST 2ND AVE
 APT 8-A
 COXAM DEMA

Date DECEMBER 06, 2018

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
2	PILLOW CASE	\$ 2.00	\$ 4.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00

OK

MERWIN DELA CRUZ
 5 EAST 71ST STREET
 NEW YORK, NY 10021

Subtotal \$ 65.00

Tax

Total \$ 65.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 11-P

Date DECEMBER 6, 2015

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
1	HAND TOWEL	\$ 2.00	\$ 2.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 67.00
		Tax	
		Total	\$ 67.00

Invoice-Template.com



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 8-A

Date DECEMBER 5, 2018

Receipt No.

Served by

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
2	PILLOW CASE	\$ 2.00	\$ 4.00
1	BATH TOWEL	\$ 3.00	\$ 3.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 8 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 62.00
		Tax	
		Total	\$ 62.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 3-M

Date DECEMBER 3, 2015

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
3	BATH TOWEL	\$ 3.00	\$ 9.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
3	HAND TOWEL	\$ 2.00	\$ 6.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	BERNWIN DELA CRUZ 8 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 74.00
		Tax	
		Total	\$ 74.00



ADL CLEANING SERVICES LLC
 208 E BEVERLY PKWY
 VALLEY STREAM NY 11580

Client:

301 E 66 ST 2ND AVE
 APT 10-B
 SOFAM DETMA

Date NOVEMBER 27, 2015

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUNNET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		

ERWIN DELA CRUZ
 5 EAST 71ST STREET
 NEW YORK, NY 10021

Subtotal \$ 69.00

Tax

Total \$ 69.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 2-6

Date NOVEMBER 20, 2015

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
3	BATH TOWEL	\$ 3.00	\$ 9.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00

OK

HERNANDEZ DE LA CRUZ
8 EAST 71ST STREET
NEW YORK, NY 10021

Subtotal \$ 72.00

Tax

Total \$ 72.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 8-X

Date NOVEMBER 20, 2016

Receipt No.

Served by

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
2	PILLOW CASE	\$ 2.00	\$ 4.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
1	HAND TOWEL	\$ 2.00	\$ 2.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 63.00
		Tax	
		Total	\$ 63.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66th 2ND AVE
APT. 2-6

Date NOVEMBER 15, 2016

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
1	FACE TOWEL	\$ 1.00	\$ 1.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 68.00
		Tax	
		Total	\$ 68.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PARKWAY
VALLEY STREAM NY 11580

Client:

301 E 66 ST 2ND AVE
APT 10-B
SONAM DEVA

Date NOVEMBER 09, 2016

Receipt No.

Served by

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUET	\$ 17.00	\$ 17.00
2	SHEETC	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00

OK

MERWIN DELA CRUZ
9 EAST 71ST STREET
NEW YORK, NY 10021

Subtotal \$ 69.00

Tax

Total \$ 69.00



ADL CLEANING SERVICES LLC
208 E BEVERLY PKWY
VALLEY STREAM NY 11580

Client:

301 E 66TH 2ND AVE
APT. 3-M

Date NOVEMBER 8, 2018

Receipt No. _____

Served by _____

DRY CLEANING

Qty	Item	Price/Unit	Total
1	DUVET	\$ 17.00	\$ 17.00
2	SHEETS	\$ 15.00	\$ 30.00
4	PILLOW CASE	\$ 2.00	\$ 8.00
2	BATH TOWEL	\$ 3.00	\$ 6.00
2	FACE TOWEL	\$ 1.00	\$ 2.00
2	HAND TOWEL	\$ 2.00	\$ 4.00
1	BATH MAT	\$ 2.00	\$ 2.00
	OK		
	MERWIN DELA CRUZ 9 EAST 71ST STREET NEW YORK, NY 10021		
		Subtotal	\$ 67.00
		Tax	
		Total	\$ 67.00